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Note:

1. This question paper contains eight questions. Attempt total five

questions including question No.1 which is compulsory.

2. No answer should exceed 800 words limit.

3. Each question carries equal marks. Marks are divided and indicated
against each part of the question.

4. Write legibly. Each part of the question must be answered in
sequence in the same continuation.

5. If questions are attempted in excess of the prescribed number only
questions attempted first up to the prescribed number shall be
valued and the remaining answers will be ignored.

EqTT & :

1. 38 YT 9 H 316 TR & | 9T H&AT | (S 3fAard §) Afec el 9 92a1 o Scck
faf@u

2. FIg T 3caX 800 grear & 3if¥e wigT glar AT

3. Ucdeh U2 & THTA 37k g | 3T Pl IRaT o Tcdeh AT o [a%g AT 3R 8T
ERIEIRIES

4., TOSTEFTY ford| WesT & Tl 19T &l 3T e H A ¥ 3T [T ST AT

5. i waAt s TR TEar & 317 e 1 9 har Srar g, af shadl eTRa

HEIT deh Ug el [ohT 1T YT ol Hedehsd fohaT SITTAT 3TN A Sccil & AR 3aTS
fopaT STUaTT|
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“Bismarck united Germany not by majority of votes and
speeches but by policy of ‘blood and iron’.” In the light of this
statement assess the contribution of Bismarck to the unification
of Germany. (20)

“TIeATh 7 STHAT &1 THIHIT qle] il agaedT i ATl & g dgl afeh Th
AT AT’ T AT g TRAT1” 29 A o TRT9T § STUHAT o Uehraheor § faewmen
F TNTETT FT ATHAT o0

Outline the main issues involved in the debate of Eighteenth
Century India. In the light of this debate do you agree with the
view that this century was a ‘Dark Age’? Give reasons for your
answer. (20)

ASTEdl oTdTeal AT UX faare & gfeafera g 7a2f &l W@ifsha Hiferm =9
AT o et | FAT o9 =7 A= | 9gHd & (o qg Tareal 'SerahT I 2172
FY ST F forw 107 &) THTeor I ST |

Why was there a spurt in the growth of modern industries in
India between the two World Wars? What was its impact? (20)

I s TET F 7ea § 9a | e ST o [ iy T F#90 qE1? 6900
FAT TATH TET ?

Distinguish between the Mansabdari system and Jagirdari
system of Akbar. Do you agree with the view that the ‘Jagirdari
crisis” was the chief reason for the decline of the Mughal
Empire? Give reasons for your answer. (20)

FFAL 3T AATARTL TITEAT 3T ST TUITSAT o 1= 3(q< Faru| T oMy
= A= ¥ 9294 g (& 'Sat dahe’ T qT9TsT & 0 1 THE A0 AqT7?
TRTLUT ITAL &1

What were the causes and main features of the tribal revolts in
Colonial India? Did these revolts lack a progressive political
consciousness? Give reasons for your answer. (20)

AT AT & sfeardt Aaral & FAT F0r a7 e Ferars «f? 0
=4 FAarel ® Wi efier TSI ITae =HaeT T TATT AT? TR IAL &I

“The ‘August Revolution’ in India was by far the most serious
rebellion since the Revolt of 1857.” Comment in detail. (20)

"A H SR witd 1857 & A%y & T8 &1 999 i [EEre oamt EEga
feoqofy Fiform
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“During the last years of the World War Two and immediately
after it the global political situation as well as the conditions in
India changed so drastically that they moved India inevitably
towards independence.” Comment in detail. (20)

"gEY AT 45 & Sfa| At | ST IHE A aT8 gAAT Al TS ITdH ot 3T
=9 AT A gt # g 9 afvady o fF 9 e AT d
ATLA T SATATET &l ST o ST o9r|" Foeqa feeqoft frfsrm)

Discuss the Gandhian methods of mass mobilization with
special reference to the Khilafat and Non-Cooperation
Movement. (20)

TIATHT 3T AT Sarad & o gasf § Tieft o ST ATHaar & a6l
IEEEGIEAELY
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